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���	�
� phenytoin ��#��	$%�
��&
Bayesian  method ,-� mass-balance algorithm �4567�������$89�:&7
���	�
����-57�������
�	�������
� phenytoin �4567��&��	�;���
��<&�<$��=$��>9&�?�
,:@-����<&=�$��8����A$
����	�,-��B7
�	��CD<���������&
�,-�������
�-57�������E��	:�
����6���6
��	� TDM ;7

�
phenytoin  �4�6$;I��

��JKL������	����������6��&�����MI�N���	�
����57 >9&�?�
��6�	�������
� phenytoin ��6
%�
4
���-$<�������M��O��$��� $�7�
A��<�@�
 18-60 �T �@�U���������
��;7
:	�
aspartate  transaminase �&7
��@� 42 U/L, alanine transaminase �&7
��@� 50 U/L albumin 7
9@��
�@�
 3.6-5.0 g/dL �@�U���������
��;7
^:$� Clcr $����@� 30 mL/min >9&<D�
^$@7
9@��U������
:	�
���UL  ^$@$�����<&
���
 enteral feeding ,-�
��
7$�<&�����-57��	����	�
����-57���� 3
��	�
 ^$@$������&
���6$�>-:@7���	�
� phenytoin ���-57�<�57<����
��&
�:&7
<
A�
��@7����
MI�N�^$@�&7
��@� 2 ��57�

���567
$57��6��&��������	
,-���a������$;&7$9-��	�
���  $����567
$57�	����	�
����-57�����
���567
$57����  fluorescence  polarization  immunoassay  (FPIA)  =����$�,-�����
���6��&������	�
���	�
����-57� ,����a�;&7$9-�	��-57�>9&�?�
��6�;&���JKL  �E��������	�������
�,-�:���
�	�
�	���	�
:@7^�  ,����a�;&7$9-��������
���	�
����-57�,-����	�
����-57���	�
��6 3 ��6�	�^�&���

$����:���=7����567
$57�	����	�
����-57�%�
���<��@� standard error ;7
���567
^�&��@��	�
0.12  mg/L #I6
$����$�@���567857^�&����
�-����,-�$���� calibrate ���567
�@7���&�A���	�


��������	
$��-A@$:	�7
@�
 80 �� ����>9&��
������ 46 �� �4M<D�
 34 �� $�7	:��=@���57
57.5:42.5 $�7�
A��<�@�
 18-60 �T �����@�
��6$�������
��;7
:	� ^: ��-&���

�	� %�
$�7�
A�k-�6
��6
37.79 �T ,-��-A@$:	�7
@�
$�����<�	���<�@�
 35-90 ��%-��	$ �k-�6
$�����<�	���6 56.07 ��%-��	$
;���
� phenytoin ��6��&�	�������$�;��� 100-550 mg/day >9&�?�
=@���<D@�	�������;���
300 mg/day ������
��;7
:	� ,-�^:#I6
����7�	
��=���	D��6$�>-:@7���	�
����-57��	������E�@�
>-������
��;7
^: 4��@�$� Clcr 7
9@���@�
  49.18-175.6  mg/dL $��@��k-�6
 98.34 mg/dL ���
���
��;7
:	�$��@�  AST  ���@�
  14-41 U/L  �k-�6
��6  24.6 U/L  $�>9&�?�
 2 ����6$��@� AST ���� 42
U/L =@���@� ALT  7
9@��<�@�
 5-49 U/L $��@��k-�6
 27.28  U/L
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������	
� 2 
������
�� ALT ���� 50 U/L ��
�
�� Alb  ��!"��#$
%���&%��� �'�
& 3.8-5.0 g/dL �.!������
4.43 g/dL 01�&�!"��#$
%���&�$2& 80 
���
�� Alb %��� �'�
&����3�4�5
6% 3.6-5.0 g/dL �7�
8�!��9
�3�&��:%&#$;<!8=#=��%��� �'�
&����3�4�5 (AST < 42 U/L, ALT < 50 U/L) 3 
� C1&�4!6%�!"��
#$
%���& 77 
� <!8����:��9�
�
�C$��"�
�=������9#$2&
997E  <!89$;�98�����%6��������!#�%985$;��
phenytoin  ��!6%5

4!$&C������9�C�8�!6%5�!"��#$
%���&
9$2&��� 1 <!8
9$2&��� 2 O5����
!�4��&�$� 4-5 '$�
O�&  ���
�	
���
� 4P����
!�4��&�$� 4 '$�
O�& �!:%&��9#9
C985$;�� ��!6%5 Q;����	
���985$;�� �
�!6%5��&���� 40 mg/L �Q��& 1 
�<!8=5�%%�C����9
�C$� C1&�4!6%�!"��#$
%���& 76 
� 985$;�� �
�!6%5
9$2&��� 1 %��� �'�
& 1.73-38.69 mg/L �.!������ 14.29 mg/L 985$;�� ��!6%5
9$2&��� 2 %��� �'�
&
1.51-42.92 mg/L �.!������ 13.10 mg/L ����	
���985$; ��!6%5#�3��
�� 2.5 mg/L 3 
� <!8=5��3�%%�
C����9
�C$�C1&�4!6%����	
� 73 
� �!:%&985$;�� ��!6%5
9$2&��� 1 ����
��
9$2&��� 2  �����	
��"�
�
��6�%�3�985$;�� ��!6%5���=5�C��
9$2&��� 1 <!8
9$2&��� 2 
3��
T4�
��Q�9����#%9E��&�7�$'-
C!�U��#9E:%& Bayesian  method <!8 mass-balance algorithm (KM, Vm) 
�� KM :%& mass^
balance algorithm  '�C���98'��9���=5�����9U1�_���<!�
�����$; 4 mg/L <!8
�� Vm 4�=5�C��
��9<��
�� KM �����$; 4 �:��=� ���#9  Q;
��
�� Vm %��� �'�
&  2.02-9.37 mg/kg/day �.!������
6.44  mg/kg/day  ��
�:%& Bayesian method ����9a4�
�� KM, Vm =5�C������	
��.Q�89��=��C3�
��b�#�%& '�C��:%&�98'��9 �3� 4�����	
�<#�!8
� '�
�� KM, Vm 
3��
T985$;�� ��!6%5=5���b�
:%&<#�!8
�  Q;
��
��  KM  %���984
��& 0.01-88.6  mg/L 
���.!������  5.73  mg/L 
��  Vm  ��
��#$2&
<#�  0.66-36.33 mg/kg/day  �.!������ 13.14 mg/kg/day  01�&�$2&�%&
����'�
&�
��&<!8

���$�<�9��&

��9U1�_�
9$2&��2Q;
������	
����=5�9$;�� phenytoin 9$;�98�����=�����3����%�� 14 
�
O5�#9
C�%;C����9�$;��c5�� �d������99$;�98�����<!8��9�%;a�� �3� 4�#�%&
$5����	
����
9$;�98�����=�����3����%%%�C��&��
�C$�%�� 14 
� �4!6%�!"��#$
%���& ���9
��
9�84E�!  59

� ;�&
�985$;�� ��!6%5
9$2&��� 3 <#�#��&C��985$;�� ��!6%5
9$2&��� 1 ��� ��6�%&C������	
�9$;
�98�����=�����3����% (noncompliance)  Q;
��;�&��
���985$;�� ��!6%5
9$2&��� 3 ����
��
9$2&
��� 1 ;�&��
���985$;�� ��!6%5
9$2&��� 3 ��%��
��
9$2&��� 1 C����9U1�_���2Q;
������	
����9$;�98���
�� phenytoin ;�&�!"��#�%&��
�5�<!%���& �!�'�5 �Q9�8����	
�;�&
� 9$;�98�����5�
�#$
�%&=��
=5� ;�&
��:���'6�%#$
�%&=��=5� a��=������95�<!%���& �!�'�5�96�%&��99$;�98�����  ����	
�C8=5�
9$;��=�����3����%<!8%�C��5:��5���9$;�98���5�
� Q;����	
�9$;�98�����  phenytoin  =��
���3����% ���9U1�_���2
�5��b� 19.20%
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��9�3����985$;�� ��!6%5:%&�$2&�%&
�f� ���!��9��9��;����;�$5��
���9�3���������5
Q!�5:%&985$;�� ��!6%5�$2& 2 
�f�Q;
�� Bayesian method ���$5��
���9�3���������5Q!�5  0.22
<!8 mass-balance algorithm  ���$5��
���9�3���������5Q!�5 0.24 �5�%;�$5��
�O5�  Chi-
square test Q;
�����$5��
���9�3���������5Q!�5=��<#�#��&�$���&�a�#� (Chi-square test; p =
0.157) 01�&
���$5��
���9�3���������5Q!�5:%& Bayesian  method ��
�� �!��
��&�$; ��9U1�_�:%&
Choy 01�&���$2&�%&
�f��3�����!��9�3���������5Q!�5=��<#�#��&�$�(22)

�!��9��9��;����;
���.!���:%&��9�3����985$;�� ��!6%5 �$;985$;�� ��!6%5���
$5C9�&

9$2&��� 3  '� studentls t-test 
��
9�84EQ;
�� Bayesian method ��
���.!���985$;�� ��!6%5 �����$;
8.69±6.58 mg/L :%& mass^balance algorithm ��
���.!���985$;�� ��!6%5�����$; 13.40±7.22 mg/L
985$;�� ��!6%5���
$5C9�&
9$2&��� 3 ��
���.!��������$; 12.07±6.63 mg/L ��6�%��9��;����;
���.!���:%&
985$;�� ��!6%5 Bayesian method �$;  mass-balance algorithm Q;
�� mass-balance algorithm ��

���.!���:%&985$;�� ��!6%5����
�� Bayesian method %���&���$��3�
$P��&�a�#� (studentls t-test;
p = 0.005) 95% CI �����$; (-6.2)^(-3.1) <!8�!��9��;����;
���.!�����9�3����985$;�� ��!6%5
Bayesian method �$;985$;�� ��!6%5���
$5C9�&
9$2&��� 3 Q;
��
���.!���985$;�� ��!6%5���
$5C9�&
9$2&
��� 3 ��&�
��
���.!�����9�3����985$;�� ��!6%5 Bayesian method %���&���$��3�
$P��&�a�#�
(studentls t-test; p = 0.005)  95% CI �����$; (-4.0)-(02.1)  
���.!���
�f���9�3����985$;�� ��!6%5
mass^balance algorithm ��&�
�� 
���.!���985$;�� ��!6%5���
$5C9�&
9$2&��� 3 %���&���$��3�
$P��&
�a�#� (studentls t-test; p = 0.048) ��  95% CI �����$; 0.3-2.8

Q;
��
���.!���:%&��9�3����985$;�� ��!6%55�
� Bayesian method C8��
��#�3��
��
���.!���
:%&��9�3����985$;�� ��!6%5���
$5=5�C9�&
9$2&��� 3 <!8
���.!���:%&��9�3����985$;�� ��!6%5
5�
� mass-balance algorithm =5��!��9�3������
���.!���985$;�� ��!6%5��&�
��
���.!���985$;�� �
�!6%5���
$5C9�&
9$2&��� 3 <#��$2&�%&
�f����$5��
�:%&��9�3���������5Q!�5=��<#�#��&�$�

��6�%=5�
��
9�84E�Q����#����9�3����<;;  linear combination of prediction ���=5��.!���
���$2&
�%&
�f�
6% Bayesian method <!8 mass-balance algorithm 5�
��$� Q;
����9�3����985$;�� �
�!6%5��

��<����3�����
�� Bayesian method <!8 mass-balance algorithm �Q��&
�f��5��
 �Q9�8
��9��9��;����; 
���.!��� ���9�3����985$;�� ��!6%5:%& linear combination of prediction �$;
985$;�� ��!6%5
9$2&��� 3 =5��!=��<#�#��&�$���&�a�#� (studentls t-test; p = 0.384) ���$5��
�

��
��5Q!�5�Q��& 0.11 <!8��6�% 4���9�3���������5Q!�5=������ ±2 mg/mL (��b�

����5Q!�5����%�
9$;=5���&
!����) C��985$;�� ��!6%5���
$5=5�C9�&C9�&
9$2&��� 3 
�f�  linear combination of
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prediction  ����9a�3����985$;�� ��!6%5=5���

����5Q!�5#�3� 
�f���2��b�
�f�������C8����9U1�_�
�Q����#��#�%=�

O9
�962%9$&��b�O9
���#�%&=5�9$;��99$�_�<!89$;�98�����%���&#�%��6�%& Q;
����99$;
�98�����������3����%���!#�%��99$�_�<!8
"T7�Q'�
�#:%&����	
� <#������
�C$�Q;
������	
����=5�9$;
���3�49$;O9
�962%9$&  �'��  phenytoin  <!8  theophylline  �$�C89$;�98�����=�����3����%a1&
63%(6), ����	
� epilepsy %���&�5��
�$�C89$;�98�����=�����3����% 13-61% (�.!��� 24%)(7)  <!8���
�	
���� '���=�����3����%=������9a

;
"�%���9'$�=5�(8) C����9U1�_� �
9$2&��2����	
���� '����$�
'$� phenytoin 9$;�98�����=�����3����%Q; 19.20% 01�&=��<#�#��&C����9U1�_���������� <!8
Q;
������	
�;�&9��C8��

��#$2& C ���99$;�98����� 4����3����% (compliance) ���:12���6�%�:��
��9U1�_� ��6�%&C����9
�C$�����9#�5#����99$;�98�����:%&����	
� O5� '��d�����Q6�%#9
C��9
9$;�98�����������3����% <!8��9#9
C�$;��c5����6�%a1&
$��$5 9
��$2&��9<�8�3���99$;�98���
�����a��#�%&<!8%f�;�������
�$;�!������5C����9 '���=�����3����%  4�����	
�<!8P�#��:�� Ca1&O9

%���9<!8

��C3���b� ���99$;�98�����������3����% �3� 4�����	
�<!8P�#�#984�$�a1&

��
�3�
$P:%&��99$;�98��������:12� '�
��$�5�<!��99$;�98��������:12� 01�&��9�Q�����99$;
�98����� 4����3����%  4�����	
��c��b���
�4�1�& ���99$�_�<!8�p%&�$�%���9<�9�0�%�:%&
O9
 O5��.Q�8O9
�962%9$&<!8O9
#�5#�%;�&O9
 �'�� �;�4
�� 

��5$�O!4�#��& O9
4%;465
O9
�%5�E  O9
!�'$� 
$TO9
  01�&��b�O9
���#�%&9$;�98�����%���&���3����%<!8#�%��6�%& �Q6�%
"T
7�Q'�
�#:%&����	
�5�:12�




